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xy +2y=x"—x+1, x=1, y1)=1/2 \
Viy=—— x20, y0)=0 '
I+x
y'=2xy=1, x>0, y(0)=0 Y
(I+x*)y' —2xy =2x(1+x*), x>1, p(1)=0 f
Y +9y=x’e" +6 &
y"+ y =3sin(2x) + xcos(2x) s
Y'=5y"+6y=2e" \4
y"—y'—2y =cosh(2x) A
" +3y" =2x* +x’e”" +5sin(3x) q
Y'+2y +2y =3 +2e “cos(x) + 4x’e "sin(x) \-
X’y +xy'+y=0 A
x*y"=2xy +2y=0 \Y
x*y"+3xy +y=0 VY
Iy Ady sdv sy X
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Y'+Ay=0, 0<x<1, »0)=0, y'(1)=0 VO
Y'+A%y=0, 0<x<7z, ' (0)=0, y(7)=0 \§&
Y'+A°y=0, 0<x<z, '(0)=0, y(7)=0 VY
Y'+A%y=0, 0<x<1, »'(0)=0, y()+H'1)=0 YA
Y+ Aly=0, 0<x<z, y(0)=0, y(z)+'(7)=0 4

Y+ /Izy =0, 0<x<27z, y(0)=yQ2x), Y (0)=y'(2n) Y.



